CU Type: UC_POLE CUs limited to 17 characters
Transmission Framing 'TQ' CU Coding Format and Naming Convention
1st | 2nd| 3rd | 4th | 5th | 6th | 7th | 8th | 9th |10th|11th|12th|13th|14th|15th|16th|17th
(MU IXTP [T -1T1Q X2 X3| - | X4 X5 - | X6
X1| OpCo X2 Voltage X3 | Brace Material
2 |NYSEG 1 115kV w WOOD
3 | CMP 2 230kV L | LAMINATED
4 | RG&E 3 345kV S STEEL
4 46kV F | FIBERGLASS
5 35kV
6 69kV
9 | multiple use
X4 Framing Application X5 Dimensional Spacing
X | Standard X-Brace on round wood 2-pole 10 10' pole spacing
H | Heavy Duty X-Brace on round wood 2-pole 11 11' pole spacing
Y Set of X-Braces on round wood 3-pole 12 12' pole spacing
Z | Set of HD X-Braces on round wood 3-pole 14 14' pole spacing
20 | 19'-6" or 20'-0" pole spacing
L X-Brace on laminated 2-pole 21 21" pole spacing
M Set of X-Braces on laminated 3-pole 26 26' pole spacing
28 28' pole spacing
31 31" pole spacing
N 33 33' pole spacing
N B Crossarm Brace
K Knee Brace
> Vv Vee Brace 63 | Brace: 60" Span 30" Drop
nd
£33 [xe Qualif
< Z . uatner CU Examples:
o <§t A single brace
Z B double braces U3PT-TQ-1W-X14-B =
ogf | C triple braces (2) 115kV Wood X-Braces
o iy D quad braces on round wood structure
= & with 14' Pole Spacing
E '5 for CMP usage
S = ~ 1 Standard X-Brace
So & 1 Heavy Duty X-Brace
<9
28
2] =| CU Function: U_TL69 for 35kV & 46KV, U_TG69 for 69KV through 344KV,
|:|_: é U_T345 for 345kV & greater.
e For correct CU: substitute 2 for NYSEG, 3 for CMP or 4 for RG&E in place of asterisk (U*_).
Contact Engineering Standards - Transmission for the creation of new standards and CUs. Drawing Scale: N/A
Yy IBERDROLA USA TRANSMISSION FRAMING DETAILS Revision
N f& / S NSMISSIoN STANDARD CU FORMAT 00
<~ | IBERDROLA STANDARDS AND NAMING CONVENTION DATE
g, X1 USA MANUAL 10/28/2015
‘Q_' Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
“sla Best%10/17/2013 Shepard/Becken/Hart |10/28/2015] Barry R. Hart roneots|  TM2.23.TQ-CU Sheet 1




THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

/"\,
\\—/

|

ANSI B
11" X 17"

—

B

VIEW A-A & C-C

5100

<~

:"(

VIEW B-B & D-D

N2

1 2!_0"

Fe

2\,

F

BILL OF MATERIAL

CLOBAL CU: U*PT-TQ-1W-X12-A

30919294 [NUT LOCK M-F SQ FOR 7/8" BOLT

30919303 |[NUT SQ GALV FOR 7/8" BOLT

30919391 |WSHR CRVD 4 SQ 3/8 THK 15/16 HOLE

30924058 [ XBRC WD 3-3/8 X 4-5/8 12F PS

- INCLUDES 1 CNTR CLMP ASSY HUGHES 2840-A

30919194 [BOLT SQHD GALV SQNT 7/8 X 20

30919196 [BOLT SQHD GALV SQNT 7/8 X 22

30923809 [CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

30919328 [WSHR LCK 2 TURN SPR GALV 7/8

CU Type:

uc_PoLE  |TBV| aTv |uom
1 4 ST
2 4 ST
3 4 ST
4 1 ST
4A
5 2 ST
6 2 ST
7 4 ST
8 4 ST
CU Function:

U_TL69 for 35kV & 46kV, U_TG69 for 69kV through 344kV, U_T345 for 345kV & greater.

For correct CU:
substitute 2 for NYSEG, 3 for CMP or 4 for RG&E in place of asterisk (U*_).

NOTE A: POLE DRILLING: ALL HOLES 15/16" DIAMETER.

NOTE B: ACTUAL POLE DRILLING MAY VARY DEPENDING ON MANUFACTURER'S END FITTING
DESIGN. SEE VENDOR DRAWINGS FOR DETAILS ON SPECIFIC END FITTINGS.

NOTE C: ATTACH BOTH TOP BOLTS INTO POSITIONED X-BRACE, LINE UP HOLES IN OTHER
END AGAINST POLE, MARK AND DRILL.

NOTE D: IF A SECOND X-BRACE IS NEEDED ON THE STRUCTURE, INSTALL THE TOP BOLT OF
THE SECOND X-BRACE 1'-6" BELOW THE BOTTOM BOLT OF THE FIRST X-BRACE.

NOTE E: LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN ON THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION FOR ASSISTANCE.

(=)
()
()
()
()
©

Contact Engineering Standards - Transmission for the creation of new standards and CUs.

Drawing Scale: 1/2"=1'-0"

IBERDROLA USA TRANSMISSION FRAMING DETAILS Revision
b . CTORﬁg‘TSQ"L'JSCST'%% 115kV STANDARD WOOD X-BRACE 00
IBERDROLA STANDARDS 12'-0" POLE SPACING Date
USA MANUAL ON ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
Bary R Hart 10r28i2015| 1 M2.23. TQ-1W-X12 | Sheet 1

L.A.Best| 7/6/2012 | Shepard/Becken/Hart

10/12/2015




THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

/"\,
\\—/

|

ANSI B
11" X 17"

—

B

VIEW A-A & C-C

5100

<~

:"(

VIEW B-B & D-D

N2

1 2!_0"

Fe

2\,

F

BILL OF MATERIAL

CLOBAL CU: U*PT-TQ-1W-X12-A

30919294 [NUT LOCK M-F SQ FOR 7/8" BOLT

30919303 |[NUT SQ GALV FOR 7/8" BOLT

30919391 |WSHR CRVD 4 SQ 3/8 THK 15/16 HOLE

30924058 [ XBRC WD 3-3/8 X 4-5/8 12F PS

- INCLUDES 1 CNTR CLMP ASSY HUGHES 2840-A

30919194 [BOLT SQHD GALV SQNT 7/8 X 20

30919196 [BOLT SQHD GALV SQNT 7/8 X 22

30923809 [CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

30919328 [WSHR LCK 2 TURN SPR GALV 7/8

CU Type:

uc_PoLE  |TBV| aTv |uom
1 4 ST
2 4 ST
3 4 ST
4 1 ST
4A
5 2 ST
6 2 ST
7 4 ST
8 4 ST
CU Function:

U_TL69 for 35kV & 46kV, U_TG69 for 69kV through 344kV, U_T345 for 345kV & greater.

For correct CU:
substitute 2 for NYSEG, 3 for CMP or 4 for RG&E in place of asterisk (U*_).

NOTE A: POLE DRILLING: ALL HOLES 15/16" DIAMETER.

NOTE B: ACTUAL POLE DRILLING MAY VARY DEPENDING ON MANUFACTURER'S END FITTING
DESIGN. SEE VENDOR DRAWINGS FOR DETAILS ON SPECIFIC END FITTINGS.

NOTE C: ATTACH BOTH TOP BOLTS INTO POSITIONED X-BRACE, LINE UP HOLES IN OTHER
END AGAINST POLE, MARK AND DRILL.

NOTE D: IF A SECOND X-BRACE IS NEEDED ON THE STRUCTURE, INSTALL THE TOP BOLT OF
THE SECOND X-BRACE 1'-6" BELOW THE BOTTOM BOLT OF THE FIRST X-BRACE.

NOTE E: LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN ON THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION FOR ASSISTANCE.

(=)
()
()
()
()
©

Contact Engineering Standards - Transmission for the creation of new standards and CUs.

Drawing Scale: 1/2"=1'-0"

IBERDROLA USA TRANSMISSION FRAMING DETAILS Revision
b . CTORﬁg‘TSQ"L'JSCST'%% 115kV STANDARD WOOD X-BRACE 00
IBERDROLA STANDARDS 12'-0" POLE SPACING Date
USA MANUAL ON ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
Bary R Hart 10r28i2015| 1 M2.23. TQ-1W-X12 | Sheet 1

L.A.Best| 7/6/2012 | Shepard/Becken/Hart

10/12/2015




BILL OF MATERIAL (CU Type: POLE)

ITEM

no. | QTY- | uowm Mo CU: U*PT-TQ-2W-L20-A
1 4 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 4 ST [ 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 4 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 4 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 4 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 1 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

CU FUNCTION: U_TL69 FOR 35KV & 46KV, -JjGGQ FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

16"
TO BOTTOM

19.5' or 20'

BOLT OF
NEXT X-BRACE

o
*
®

00

(=)
()

aaa—il i
0606 0

il

&
*

©
O,

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

u).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE A
SECOND CROSS-BRACE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 5'
a TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 230KV X-BRACING 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
B. Frankiin |10/04/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23. TQ-2W-L20-A| sheet




BILL OF MATERIAL (CU Type: POLE)

0
2

No. - | vom Mo CU: U'PT-TQ-2W-L20-B

ST [ 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS

ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

o|N|o|ofs (o] |E
N[N oo oo co| oo oo| oo

19.5' or 20'

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE TWO (2)
CROSS-BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- = CONSTRUCTION 230KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin 10/17/2013| Shepard/Becken/Fiart  3/05/2015 | Barry R Hart | arioi2015 | 1 M2.23. TQ-2W-L20-B| sheet




BILL OF MATERIAL (CU Type: POLE)

T o Juow | U CU: U*PT-TQ-2W-L20-C

NO.
1 12 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 12 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 12 ST 30919368 WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 3 ST 30923712 XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
’llll 19.5' or 20' ||’|i\
000 W» '- 000
Ve % & Sete
0606 0606
@
000 000
S=> S=>
060 Al—EE
EG) EG)
O O
XS — 65
é’/ )
000 00O
060 { 060
RG) 000
O 3 S
060 ]H( i 060
i QL

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- = CONSTRUCTION 230KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 7/30/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23.TQ-2W-L20-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-2W-L20-D
1 16 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 16 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 16 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 4 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

19.5' or 20'

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE

MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'
a TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 230KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin| 8/07/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23. TQ-2W-L20-D| sheet




BILL OF MATERIAL (CU Type: POLE)

il

l

il

il

o | arv. | uom P CU: U*PT-TQ-2W-M20-A
1 6 ST | 30919294 [ NUT LOCK M-F SQ FOR 7/8" BOLT
2 | 6 | ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 | 6 | ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 | 6 | ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 | 4 | ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 | 6 | ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST | 30924060 [ XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 | 2 | ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
L
= Q
282
ok d
<83 X 19.5' or 20 19.5' or 20"
=il
=z

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE

MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE A

SECOND CROSS-BRACE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- = CONSTRUCTION 230KV X-BRACING 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
B. Franklin| 8/15/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23.TQ-2W-M20-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U'PT-TQ-2W-M20-B
1 12 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8"BOLT
3 12 ST [ 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 4 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

il 19.5' or 20' il 19.5' or 20'

(DG

(1203
060,

®
(D
©,

(7

X
Q000

|
% 4
O] L

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

e

X

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK
U).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE TWO (2)
CROSS-BRACES.

X

000
(X5

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- = CONSTRUCTION 230KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 8/15/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23.TQ-2W-M20-B| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM .

arv. Juom| s CU: U*PT-TQ-2W-M20-C
18 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

18 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

18 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 [ WSHR LCK 2 TURN SPR GALV 7/8"

12 ST [ 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

18 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

6 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS

6 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

.l“l 19.5' or 20' ||.|i\||| 19.5' or 20' |
o§9*9 9 .' X 2
90
(3)

o|N|o|ofs (o] |E
—
o

000,
@

%
L\

|||'

(DX

(3)
060, 'I! !

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION
CONSTRUCTION 230KV X-BRACING - 3 SETS OF X-BRACES 01

I IBERDROLA STANDARDS 19.5' OR 20" POLE SPACING - 3-POLE STRUCTURE DATE

USA MANUAL LAMINATED POLES 10/06/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin| 8/15/2014 Becken/Hart 30052015 | Bary R Hart | 37102015 | | M2.23.TQ-2W-M20-C] Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom Mo CU: U*PT-TQ-2W-M20-D
1 24 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 24 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 24 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 8 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 8 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE

19.5" or 20'

19.5" or 20'

MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION

ot CONSTRUCTION 230KV X-BRACING - 4 SETS OF X-BRACES 01
IBERDROLA STANDARDS 19.5' OR 20' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/06/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin| 8/15/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 3/19/2015 TM2.23.TQ-2W-M20-D| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom o CU: U'PT-TQ-2W-X20-A
1 4 ST | 30919294 |[NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT
3 4 | ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 4 | ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 4 | ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 4 | ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1| ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 1| ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
s &
P65k
ok d
~Rg X 19.5' or 20"
ook |
Z " )
588 588
855 855

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR
345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE

OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL
REQUIRE A SECOND CROSS-BRACE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 3 CONSTRUCTION 230KV X-BRACING 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin |10/04/2013 Becken/Hart 3/05/2015| Barry R. Hart | 3/26/2015 TM2.23. TQ-2W-X20-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

o | arv. | uom e CU:. U*PT-TQ-2W-X20-B

1 8 ST | 30919294 [ NUT LOCK M-F SQ FOR 7/8" BOLT

2 8 ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT

3 8 ST | 30919196 [ BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

4 8 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

5 8 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

6 8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

7 2 ST | 30924060 [ XBRC WD 4-5/8 X 5-3/4 19F6 PS

8 2 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

19.5' or 20'

000 000
060 060
000 000
0606 066
000 000
0606 0606

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE A SECOND

CROSS-BRACE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
f&- 3 CONSTRUCTION 230KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin |10/15/2013 Becken/Hart 31052015 | Barry R Hart 32622015 | 1 M2.23. TQ-2W-X20-B| Sheet 1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

Moo | arv. [uom | oA CU: U*PT-TQ-2W-X20-C
1 12 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 12 ST 30919196 |[BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 12 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST 30924060 XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 3 ST 30923712 XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
19.5' or 20'
1 1
(23 203
= =
0606 0606
000 000
= =
(4X5X6) (4)X58)
000 000
Y V'
0606 0606
000 000
= =
0606 0606
000 000
e e
0606 0606

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
fa- - CONSTRUCTION 230KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 7/30/2014 Becken/Hart 3/05/2015 | Barry R Hart | 3/26/2015 TM2.23.TQ-2W-X20-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

G

'I.%“_” QTY. | UOM 'ﬁfé\ CU: U*PT-TQ-2W-X20-D
1 16 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 16 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST 30919328 WSHR LCK 2 TURN SPR GALYV 7/8"
5 16 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 16 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST 30924060 XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 4 ST 30923712 XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
19.5' or 20'
ps
00O zR ‘
06

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
fa- - CONSTRUCTION 230KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 7/30/2014 Becken/Hart 3/05/2015 | Barry R Hart | 3/26/2015 TM2.23.TQ-2W-X20-D| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM

0
2

uom Mo CU: U'PT-TQ-2W-Y20-A

ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS

ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP

o|~|o|o|nfwn]=|E
Niv|olsololo|o
wn
_|

16"
TO BOTTOM
BOLT OF
NEXT X-BRACE

19.5' or 20' 19.5' or 20'

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE A SECOND
CROSS-BRACE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 5'
a TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 230KV X-BRACING 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-2W-Y20-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

000

No. | arY. | uom s CU: U*PT-TQ-2W-Y20-B
1 12 ST | 30919294 [NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 [NUT SQ GALV FOR 7/8"BOLT
3 12 ST | 30919196 [BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST [ 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST [ 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924060 [ XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 4 ST | 30923712 [ XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
19.5' or 20’ 19.5' or 20’
Q000

@

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 230kV H-FRAME STRUCTURES USING POLES 80' LONG OR LONGER SHALL REQUIRE A
SECOND CROSS-BRACE.

(o

= L Lo

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
fa- - CONSTRUCTION 230KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING - 3-POLE STRUCTURES DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 3052015 | Barry R Hart | 41032015 | 1 M2.23. TQ-2W-Y20-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

No. | @rv. | uom Mo CU: U'PT-TQ-2W-Y20-C
1 18 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 18 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 18 ST | 30919196 [BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 18 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 12 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 18 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 6 ST | 30924060 | XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 6 ST | 30923712 | XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
19.5' or 20' 19.5' or 20'

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
fa- - CONSTRUCTION 230KV X-BRACING - 3 SETS OF X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-2W-Y20-C| sheett




BILL OF MATERIAL (CU Type: POLE)

'I.%“_” QTY. | UOM “ﬁﬁé\ CU: U*PT-TQ-2W-Y20-D
1 24 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 24 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST 30919196 [ BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST 30919328 WSHR LCK 2 TURN SPR GALYV 7/8"
5 16 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 24 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 8 ST 30924060 XBRC WD 4-5/8 X 5-3/4 19F6 PS
8 8 ST 30923712 XBRC CENTER CLAMP 4-5/8 X 5-3/4 STRAP
19.5' or 20' 19.5' or 20'
= =
d 000
060

$/

\ \
ool ‘9/ \ VAo \

d ¥

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
fa- - CONSTRUCTION 230KV X-BRACING - 4 SETS OF X-BRACES 01
IBERDROLA STANDARDS 19.5' & 20' POLE SPACING - 3-POLE STRUCTURES DATE
USA MANUAL ROUND WOOD POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 300522015 | Barry R Hart 41032015 | | M2.23. TQ-2W-Y20-D| Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1y, | uom 'k’/“sé\ CU: U*PT-TQ-3W-L21-A

ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 |NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 [BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENIE N ENES
NN PN

ST [ 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

16"
TO BOTTOM BOLT
OFSECOND X-BRACE
NOTE C

210"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK
U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH

NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE
X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

REVISION

01

DATE

10/06/2015

1 TRANSMISSION STRUCTURE STANDARDS
f&- CONSTRUCTION 345KV X-BRACING
IBERDROLA STANDARDS 21' POLE SPACING
USA MANUAL LAMINATED POLES
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin|10/17/2013 Becken/Hart 30052015 | BarryR Hart 41032015 | 1 M2.23. TQ-3W-L21-A | Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1v. | uom 'kjmss\ CU: U*PT-TQ-3W-L21-B

16 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

8 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

16 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES
—
o

2 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

E[ 21'-0" AU
aaa—lll N . P~
O RN 2 HF—0e

Y 06
b~
ayoe

il 35

J (AL

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fﬁ- £ CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|[10/17/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-L21-B| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1v. | uom 'kjmss\ CU: UPT-TQ-3W-L21-C

24 ST [ 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

12 ST [ 30919303 | NUT SQ GALV FOR 7/8" BOLT

24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

24 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES

3 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

210"

L il

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
f&- £ CONSTRUCTION 345KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 8/07/2014 Becken/Hart 310572015 | Barry R. Hart | 410372015 | | M2.23. TQ-3W-L21-C| Sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1v. | uom 'kjmss\ CU: U*PT-TQ-3W-L21-D

32 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

16 ST [ 30919303 | NUT SQ GALV FOR 7/8" BOLT

32 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

32 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES

4 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

210"

[ i

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" =7

j TRANSMISSION STRUCTURE STANDARDS REVISION
fﬁ- £ CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|[10/17/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-L21-D| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1y, | uom 'kj“sé\ CU: U*PT-TQ-3W-L26-A

ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENIE N ENES
NN PN

ST | 30924048 | XBRC LAM 6 X 6-3/4" ASSY 26F PS (NOTE B)

26"0"

1 |_6"
TO BOTTOM BOLT

OFSECOND X-BRACE
NOTE C

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK
U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE
X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

REVISION

01

DATE

10/06/2015

1 TRANSMISSION STRUCTURE STANDARDS
f&- CONSTRUCTION 345KV X-BRACING
IBERDROLA STANDARDS 26' POLE SPACING
USA MANUAL LAMINATED POLES
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin|10/17/2013 Becken/Hart 30052015 | Barry R Hart 41032015 | 1 M2.23. TQ-3W-L26-A | Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM .

Qry. | uom P CU: U*PT-TQ-3W-L26-B
16 ST | 30919294 |[NUT LOCK M-F SQ FOR 7/8" BOLT
8 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
16 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
2 ST | 30924048 | XBRC LAM 6 X 6-3/4" ASSY 26F PS (NOTE B)

N GIENE N ENES
—
o
[¢)]
_|

26'-0" L
| flliizS
il
k- 33
i .\:: g’g
Ui (!

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'
a TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|10/17/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/05/2015 TM2.23.TQ-3W-L26-B | sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom ‘Wib. CU: U*PT-TQ-3W-L26-C
1 24 ST | 30919294 |[NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT
3 24 ST [ 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 24 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST | 30924048 | XBRC LAM 6 X 6-3/4" ASSY 26F PS (NOTE B)

26'-0"

Il i

I

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

il

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- 3 CONSTRUCTION 345KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 8/07/2014 Becken/Hart 310572015 | Barry R. Hart | 410372015 | | M2.23.TQ-3W-L26-C| Sheet1




BILL OF MATERIAL (CU Type: POLE)

No | arv- fuow| U CU: U*PT-TQ-3W-L26-D
1 32 ST | 30919294 |[NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST | 30919303 [NUT SQ GALV FOR 7/8" BOLT
3 32 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 32 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 16 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924048 [ XBRC LAM 6 X 6-3/4" ASSY 26F PS (NOTE B)

GREATER.

26'-0"

i
i

il

!

i

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE

MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" =7

j TRANSMISSION STRUCTURE STANDARDS REVISION
fé- = CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|{10/17/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM223TQ'3W'L26'D Sheet 1




BILL OF MATERIAL (CU Type: POLE)

ITEM .

Qry. | UoMm P CU: U*PT-TQ-3W-L28-A
ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
ST 30919303 [ NUT SQ GALV FOR 7/8" BOLT
ST 30919196 |[BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

N GIENIE N ENES
NN PN

28"0"

1'_6“
TO BOTTOM BOLT
OFSECOND X-BRACE
NOTE C

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK
U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE
X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION
OF THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 5'
a TRANSMISSION STRUCTURE STANDARDS REVISION
't CONSTRUCTION 345KV X-BRACING 01
IBERDROLA| STANDARDS 28' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|10/17/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-L28-A | sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-3W-L28-B
1 16 ST [ 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT
3 16 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 8 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

Cu

pill =5 nl
8’3‘6 o lindl;

1 Ul

FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PIN

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE

MO

S AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

UNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- 3 CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin|[10/17/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-L28-B| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-3W-L28-C
1 24 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 24 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

28'-0

/ A—— —
T
Y

I il

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

I

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

REVISION

01

DATE

10/06/2015

a TRANSMISSION STRUCTURE STANDARDS
ot CONSTRUCTION 345KV X-BRACING - 3 X-BRACES
IBERDROLA STANDARDS 28' POLE SPACING
USA MANUAL LAMINATED POLES
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin| 8/14/2014 Becken/Hart 30052015 | Barry R Hart 41032015 | 1 M2.23. TQ-3W-L28-C | Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom Mo CU: U*PT-TQ-3W-L28-D
1 32 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 32 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 32 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 16 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

280"

i

Rl

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- 3 CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/06/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 8/14/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-L28-D| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM

0
2

uom Mo CU: U*PT-TQ-3W-M28-A

RN
N

ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

(]

ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT

RN
N
wn
_|

30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

(o]

ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

(o]

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENIE N ENES
—
)

N

ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

28"0"

16"
TO BOTTOM BOLT
OF SECOND X-BRACEH|
NOTE C

il

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE
X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 2 CONSTRUCTION 345KV X-BRACING 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/13/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/20/2014 Becken/Hart 300522015 | Barry R Hart | 410212015 | | M2.23. TQ-3W-M28-A| Sheet




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

NOTE D: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

No. | arv. |uom | O CU: U*PT-TQ-3W-M28-B
1 24 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST 30919368 WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)
28'-0" ] 28'-0"
1X2)X3 LL
- 46 3 m
(1) 3)2 o 1 Z
7
4 4 © LT//Q’
DOEC (13
[N
3 Al &
7 L
i o y 1X3) 4 v °
| i

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

a TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 345KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/13/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/20/2014 | Shepard/BeckeniHiart | 31052015 | Barry R Hart  4i02/2015 | 1 M2.23. TQ-3W-M28-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | arv. |uom | O CU: U*PT-TQ-3W-M28-C

1 36 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

18 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

36 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

36 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

18 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

2
3
4
5 24 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6
7

6 ST [ 30924046 | XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

il

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

1L

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
é- / CONSTRUCTION 345KV X-BRACING - 3 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/13/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
8/20/2014 Becken/Hart 3/05/2015| Barry R. Hart | 4/03/2015 TM223TQ'3W'M28'C Sheet 1

C. Gauvin




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom Mo CU: U*PT-TQ-3W-M28-D
1 48 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 24 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 48 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 48 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 32 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 24 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 8 ST | 30924046 [ XBRC LAM 5-1/8 X 7-1/2" ASSY 28F PS (NOTE B)

280"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

o) I

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP. DO NOT USE GRID GAINS FOR LAMINATED POLES.

NOTE C: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 345KV X-BRACING - 4 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/13/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/20/2014 Becken/Hart 30052015 | Barry R Hart | 41032015 | | M2.23.TQ-3W-M28-D| sheet




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U'PT-TQ-3W-X21-A
1 8 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 8 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 8 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 4 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

16"
TO BOTTOM BOLT
OFSECOND X-BRACE

()
(o)
(oY) l

NOTE C

2 1 I_Oll

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

u).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE

X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
fa- CONSTRUCTION 345KV X-BRACING 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/04/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-X21-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-3W-X21-B
1 16 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 16 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

2 1 v_on

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fé- _ CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/15/2013 Becken/Hart 30052015 | Bary R Hart | 4i032015| 1 M2.23. TQ-3W-X21-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

No | arv- fuow| U CU: U*PT-TQ-3W-X21-C
1 24 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 24 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST | 30924047 | XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP.

210"

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
f&- , CONSTRUCTION 345KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/07/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-X21-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | vom ‘Wib. CU: U*PT-TQ-3W-X21-D
1 32 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST | 30919303 | NUT SQ GALV FOR 7/8"BOLT
3 32 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 32 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924047 [ XBRC LAM 6 X 6-3/4" ASSY 21F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS

AND CENTER CLAMP.

21-0"

W,

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" =7

TRANSMISSION STRUCTURE STANDARDS REVISION
f&- , CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 21' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin [10/17/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-X21-D| sheet




BILL OF MATERIAL (CU Type: POLE)

No | arv- fuow| U CU: U*PT-TQ-3W-X26-A
1 8 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 8 ST [ 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 8 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 4 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST | 30924048 | XBRC LAM 6 X 6-3/4 ASSY 26F PS (NOTE B)

16"
TO BOTTOM BOLT
OFSECOND X-BRACE

(X
()
(@Xw) l

NOTE C

26'-0"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

u).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE

X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- CONSTRUCTION 345KV X-BRACING 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/04/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-3W-X26-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom ‘Wib. CU: U'PT-TQ-3W-X26-B
1 16 ST | 30919294 |[NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST | 30919303 |NUT SQ GALV FOR 7/8" BOLT
3 16 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST [ 30924048 | XBRC LAM 6 X 6-3/4 ASSY 26F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

26"0"

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
f&- _ CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/16/2013 Becken/Hart 30052015 | Bary R Hart | 4i032015| 1 M2.23. TQ-3W-X26-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | arv. | uom ‘Wib. CU: U'PT-TQ-3W-X26-C
1 24 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 24 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST | 30924048 | XBRC LAM 6 X 6-3/4 ASSY 26F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

260"

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
ﬁ- , CONSTRUCTION 345KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/07/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-X26-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

TV o uow | NYeES CU: U*PT-TQ-3W-X26-D

32 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

16 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

32 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

32 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

DL GIENE N ENES

4 ST | 30924048 | XBRC LAM 6 X 6-3/4 ASSY 26F PS (NOTE B)

26'-0"

-

Wal
e
®

\

AR

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" =7

TRANSMISSION STRUCTURE STANDARDS REVISION
f&- - CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 26' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/17/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-X26-D| Sheet




BILL OF MATERIAL (CU Type: POLE)

(X
()
(@Xw) l

No'| arv. | uom P CU: U*PT-TQ-3W-X28-A
1 8 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 8 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 8 ST | 30919328 [ WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST | 30919393 [ WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 4 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)
L
52
o
LR
3~ W
iEzh5 .
50 = 28-0
2 | |
owm
= L
(@]

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

u).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE

X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 2 CONSTRUCTION 345KV X-BRACING 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/04/2013 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-X28-A| sheet1




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-3W-X28-B
1 16 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 16 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 8 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

28'-0"

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- 3 CONSTRUCTION 345KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/16/2013 Becken/Hart 30052015 | Bary R Hart | 4i02i2015| 1 M2.23.TQ-3W-X28-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM .
ary. | oM ‘b CU: U*PT-TQ-3W-X28-C
24 | ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
12| ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
24 | ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
24 | ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
12 | ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENIE N ENES
N
~

3 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)
28!_0"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'
é TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 345KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/13/2014 Becken/Hart 3/05/2015| Barry R.Hart | 4/02/2015 TM2.23.TQ-3W-X28-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM .
QTY. | UOM P CU: U*PT-TQ-3W-X28-D

32 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

16 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

32 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

32 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

32 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

4 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)

280"

N GIENE N ENES

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS
AND CENTER CLAMP.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'
é TRANSMISSION STRUCTURE STANDARDS REVISION
s CONSTRUCTION 345KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/13/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-X28-D| sheett




BILL OF MATERIAL (CU Type: POLE)

u).

(=)
()
(oY) l

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES. THE
X-BRACES SHALL BE SEPARATED BY 1'-6" PER THE DIMENSION ON THE DETAIL.

o' | arv. | uom A CU: U*PT-TQ-3W-Y28-A
1 12 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 6 ST 30919303 | NUT SQ GALV FOR 7/8"BOLT
3 12 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 6 ST 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)
[11]
53
2%
, =x©
©O0 M
~EZ0 280"
oQz -
@ g
o
(v
o

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 2 CONSTRUCTION 345KV X-BRACING 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/15/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM2.23.TQ-3W-Y28-A| sheett




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom Mo CU: U*PT-TQ-3W-Y28-B
1 24 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 24 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

28"0"

28"0"

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER

PINS AND CENTER CLAMP.

NOTE C: 345kV STRUCTURES USING 100' LONG POLES OR LONGER REQUIRE (2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 345KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/15/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/19/2014 Becken/Hart 300572015 | Barry R Hart | 410212015 | 1 M2.23. TQ-3W-Y28-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. | uom ‘Wib. CU: U'PT-TQ-3W-Y28-C
1 36 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 18 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 36 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 36 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 24 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 18 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 6 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).
NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE

USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT

28"0"

28"0"

ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER PINS

AND CENTER CLAMP.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 345KV X-BRACING - 3 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/15/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/19/2014 Becken/Hart 300522015 | Barry R Hart 41032015 | | M2.23. TQ-3W-Y28-C| Sheet




BILL OF MATERIAL (CU Type: POLE)

No | arv- fuow| U CU: U*PT-TQ-3W-Y28-D
1 48 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 24 ST | 30919303 [ NUT SQ GALV FOR 7/8" BOLT
3 48 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 48 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 32 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 24 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 8 ST | 30924046 | XBRC LAM 5-1/8 X 7-1/2 ASSY 28F PS (NOTE B)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: X-BRACE ASSEMBLY (ITEM #7) INCLUDES X-BRACE, MOUNTING TEES, GRID GAINS, CENTER
PINS AND CENTER CLAMP.

28'-0" 28'-0"

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

é TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 345KV X-BRACING - 4 SETS OF X-BRACES 01
IBERDROLA STANDARDS 28' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/15/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/19/2014 Becken/Hart 30052015 | Barry R Hart | 410212015 | | M2.23. TQ-3W-Y28-D)| Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM qTy.

IUSA

UoMm MID

CU: U*PT-TQ-5W-L10-A

ST | 30919294 [ NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

SIENININIENFES
ENINFNFINFS

ST | 30924053 | XBRC WD 10F PS

1-6"

1 Ov_on

BOLT OF
NEXT X-BRACE

TO BOTTOM

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR
345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE

OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE C: 35kV, 46kV, AND 69kV STRUCTURES USING 60' LONG POLES OR LONGER

REQUIRE (2) C

ROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 5'

'IBERDROLA
USA

TRANSMISSION
CONSTRUCTION
STANDARDS
MANUAL

STRUCTURE STANDARDS REVISION

35KV/46kV/69kV X-BRACING

01

10' POLE SPACING - MAINTENANCE ONLY DATE

LAMINATED WOOD POLES 10/13/2015

Drwn. By:| Date Dr.:

Checked By:

Date Ck.:

C. Gauvin [10/10/2012

Becken/Hart

3/05/2015

Approved By: | Date App.:
Barry R Hart | 4022015 | 1 M2.23. TQ-OW-L10-A | Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | @rv. |uom | MOPE CU: U*PT-TQ-5W-L10-B
1 | 8 [ ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 | 8 | ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A
3 | 8 | ST | 30919328 | WSHRLCK 2 TURN SPR GALV 7/8"
4 | 8 |ST| 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
5 | 2 | ST | 30924053 | XBRC WD 10F PS

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

u).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 35kV, 46kV, AND 69kV STRUCTURES USING 60' LONG POLES OR LONGER REQUIRE (2) CROSS

BRACES.

10'-0"

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 6'
a TRANSMISSION STRUCTURE STANDARDS REVISION
't CONSTRUCTION 35KV/46kV/I69kV X-BRACING - 2 X-BRACES 01
IBERDROLA| STANDARDS 10' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/13/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin [10/11/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-5W-L10-B | sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM qTy.

IUSA

UoMm MID

CU: U*PT-TQ-5W-X10-A

ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 [ WSHR LCK 2 TURN SPR GALYV 7/8"

ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

SIENININIENFES
ENINFNFINFS

ST | 30924053 | XBRC WD 10F PS

1-6"

1 Ov_on

BOLT OF
NEXT X-BRACE

TO BOTTOM

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE

345KV & GREATER.

OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 35kV, 46kV, AND 69kV STRUCTURES USING 60' LONG POLES OR LONGER

REQUIRE (2) C

ROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

a TRANSMISSION STRUCTURE STANDARDS REVISION

o CONSTRUCTION 35KV/46kV/69kV X-BRACING 01
IBERDROLA STANDARDS 10' POLE SPACING - MAINTENANCE ONLY DATE
USA MANUAL ROUND WOOD POLES 10/28/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin |10/10/2012 Becken/Hart 30052015 | Bary R Hart | 4i02i2015 | | M2.23.TQ-5W-X10-A| Sheet




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 35kV, 46kV, AND 69kV STRUCTURES USING 60' LONG POLES OR LONGER REQUIRE (2) CROSS

BRACES.

No | arv. |uom | LR CU: U*PT-TQ-5W-X10-B
1 8 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
3 8 ST 30919328 | WSHR LCK 2 TURN SPR GALYV 7/8"
4 8 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
5 2 ST 30924053 | XBRC WD 10F PS
10!_0"
1 1
() ()
00 00
5
00 00
< 1'-6" <
00 . 00
5
(2) (1)2)
00 BX2)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&- CONSTRUCTION 35KV/46kV/69kV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 10' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/10/2012 Becken/Hart 30052015 | BaryR Hart | 4i032015| 1 M2.23. TQ-5W-X10-B| Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM

0
2

UoMm

IUSA

CU: U'PT-TQ-9W-L14-A

NO. MID
1 4 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 4 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 4 ST 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 4 ST 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 4 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST 30924054 | XBRC WD 14F PS
s &
_Os%
k=3
~8aX 140"
o mXx
oW
=
852 852
52 852
il il

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345
FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE
OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER

REQUIRE (2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

- TRANSMISSION STRUCTURE STANDARDS REVISION
fa' e CONSTRUCTION 69KV & 115KV X-BRACING 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/13/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/04/2013 Becken/Hart 30052015 | BaryR Hart | 4i02i2015| 1 M2.23. TQ-9W-L14-A | Sheet




BILL OF MATERIAL (CU Type: POLE)

ITEM

0
2

vom [ WA CU: U*PT-TQ-9W-L14-B

ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 |NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919368 [ WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES
N e e

ST | 30924054 | XBRC WD 14F PS

14'0"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) CROSS
BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f‘b- CONSTRUCTION 69KV & 115KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/13/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin [10/17/2013 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-9W-L14-B | sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1v. | uom 'k’/“sé\ CU: UPT-TQ-9W-L14-C

12 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT

12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

12 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

12 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

12 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

12 ST | 30923809 [ CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES

3 ST | 30924054 [ XBRC WD 14F PS

14'0"

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) CROSS
BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

- TRANSMISSION STRUCTURE STANDARDS REVISION
f&' CONSTRUCTION 69KV & 115KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/14/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 7/24/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/03/2015 TM2.23.TQ-9W-L14-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

ITEM ' o1v. | uom 'kjmss\ CU: U*PT-TQ-9W-L14-D

16 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

16 ST | 30919303 |NUT SQ GALV FOR 7/8" BOLT

16 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENE N ENES

4 ST | 30924054 | XBRC WD 14F PS

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

a TRANSMISSION STRUCTURE STANDARDS REVISION

et CONSTRUCTION 69KV & 115KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL LAMINATED POLES 10/14/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 7/28/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-9W-L14-D| sheet1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) SETS OF

CROSS BRACES.

o] arv. Juow| U CU: U*PT-TQ-9W-M14-A
1 6 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 6 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 6 ST | 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 6 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 4 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 6 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST | 30924054 | XBRC WD 14F PS
s 6
ol
Qg X
2%
=

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

a TRANSMISSION STRUCTURE STANDARDS REVISION

ot CONSTRUCTION 69KV & 115KV X-BRACING 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/14/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/14/2014 Becken/Hart 30052015 | Barry R Hart | 410212015 | | M2.23. TQ-OW-M14-A| Sheet




BILL OF MATERIAL (CU Type: POLE)

HIEAIE CU: U*PT-TQ-9W-M14-B
1 12 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 12 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 12 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST | 30924054 | XBRC WD 14F PS

14'-Q"

000
060

J

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.

l
l

-— (D205
0’66

,»

=

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

NOTE C: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) SETS OF
CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

a TRANSMISSION STRUCTURE STANDARDS REVISION

ot CONSTRUCTION 69KV & 115KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/14/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/14/2014 Becken/Hart 30052015 | Barry R Hart | 410212015 | 1 M2.23. TQ-9W-M14-B| sheet




BILL OF MATERIAL (CU Type: POLE)

No | arv. |uom | LR CU: U*PT-TQ-9W-M14-C
1 18 ST 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT
2 18 ST 30919303 | NUT SQ GALV FOR 7/8"BOLT
3 18 ST 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 18 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 12 ST 30919368 WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE
6 18 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 6 ST 30924054 | XBRC WD 14F PS
14'_0" B 14'_0"
000
ole
0606
006
<>
0606
Al
DRG)—4
EO—
000
=
0606
000
<=
0606

) %

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

a TRANSMISSION STRUCTURE STANDARDS REVISION

et CONSTRUCTION 69KV & 115KV X-BRACING - 3 SETS OF X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL LAMINATED POLES 10/14/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/14/2014 Becken/Hart 30052015 | Barry R Hart | 41032015 | | M2.23. TQ-9W-M14-C| Sheet




BILL OF MATERIAL (CU Type: POLE)

No. | arv. |uom | O CU: U*PT-TQ-9W-M14-D

1 24 ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

24 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT

24 ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

16 ST | 30919368 | WSHR FLAT 4 SQ 1/4 THK 15/16 HOLE

24 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

2
3
4 24 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5
6
7

8 ST | 30924054 | XBRC WD 14F PS

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK (U*_).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE POLE
USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH
NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT
ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: IF THE LAMINATED WOOD POLES HAVE A SPLICE AND THE ABOVE DIMENSIONS CAUSE
X-BRACE MOUNTING BOLTS TO BE WITHIN 12" OF THE SPLICE PLATES THE INSTALLATION LOCATION OF
THE X-BRACES SHALL BE FIELD MODIFIED DOWN THE POLE SUCH THAT THE NEAREST X-BRACE
MOUNTING BOLT IS 12" FROM THE SPLICE PLATES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
&- 5 CONSTRUCTION 69KV & 115KV X-BRACING - 4 SETS OF X-BRACES 01

IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURES DATE

USA MANUAL LAMINATED POLES 10/14/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/14/2014 Becken/Hart 31052015 | Bary R Hart | 410212015 | | M2.23. TQ-QW-M14-D) Sheet




BILL OF MATERIAL (CU Type: POLE)

o' | arv. [uom | oA CU: U*PT-TQ-9W-X14-A
1 4 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 4 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 4 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 4 ST 30919328 WSHR LCK 2 TURN SPR GALYV 7/8"
5 4 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 4 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 1 ST 30924054 | XBRC WD 14F PS
= 4
N
© 5 0
~agy 140"
=R | |
= oow
=2 —— —
828 828
D00 D00

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR
345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE

OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING

STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE

(2) CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 4 CONSTRUCTION 69KV & 115KV X-BRACING 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/03/2012 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM223TQ'9W'X1 4'A Sheet 1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &

GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK

U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) CROSS

BRACES.

-

No | arv. |uom | LR CU: U*PT-TQ-9W-X14-B
1 8 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 8 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 8 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 8 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 8 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 2 ST 30924054 | XBRC WD 14F PS
14'-Q"
1 1
(2B 006
=0 Sete
0606 0606
7
006 006
Yoz 1-6" Yok
0606 0606
7
006 006
e S
B3

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa' = CONSTRUCTION 69KV & 115KV X-BRACING - 2 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin |10/10/2012 Becken/Hart 3/05/2015| Barry R. Hart | 4/02/2015 TM223TQ'9W'X1 4'B Sheet 1




BILL OF MATERIAL (CU Type: POLE)

Moo | arv. [uom | oA CU: U*PT-TQ-9W-X14-C
1 12 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 12 ST 30919196 |[BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST 30919328 WSHR LCK 2 TURN SPR GALYV 7/8"
5 12 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 3 ST 30924054 | XBRC WD 14F PS

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR

=)

14'-0"

61

o
‘

©
O

(=)
©

345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE

OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING

1-6"

STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- _ CONSTRUCTION 69KV & 115KV X-BRACING - 3 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 7/24/2014 Becken/Hart 3/05/2015| Barry R.Hart | 4/02/2015 TM2.23.TQ-9W-X14-C| sheet1




BILL OF MATERIAL (CU Type: POLE)

HIEAIE CU: U*PT-TQ-9W-X14-D
1 16 ST | 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 16 ST | 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 16 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 16 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 16 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 16 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST 30924054 | XBRC WD 14F PS

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF

C’ﬁ

40"

(1X02X(3)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV
& GREATER.

ASTERISK (U* ).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF
THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS
PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE
BILL OF MATERIALS. CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU

NEED ASSISTANCE.

-

=

(1(2)(3)
06

©,

(1X(2X3)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- _ CONSTRUCTION 69KV & 115KV X-BRACING - 4 X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 7/24/2014 Becken/Hart 3/05/2015 | Barry R. Hart | 4/02/2015 TM2.23.TQ-9W-X14-D| sheet1




17-6"
TO BOTTOM
BOLT OF
NEXT X-BRACE

BILL OF MATERIAL (CU Type: POLE)

ITEM

0
2

vom | e CU: U*PT-TQ-9W-Y14-A

ST | 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

ST | 30919303 |NUT SQ GALV FOR 7/8" BOLT

ST | 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"

ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

N GIENIE N ENES
Nlo|alo|olo|o

ST | 30924054 | XBRC WD 14F PS

141_0n 141_0n

(- [

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR
345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE
OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE
(2) SETS OF CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa' 2 CONSTRUCTION 69KV & 115KV X-BRACING 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 300522015 | Barry R Hart | 410212015 | | M2.23. TQ-QW-Y14-A | Sheet




BILL OF MATERIAL (CU Type: POLE)

o' | arv. |uom A CU: U*PT-TQ-9W-Y14-B
1 12 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 12 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 12 ST 30919196 |BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 12 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"
5 8 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 12 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 4 ST 30924054 | XBRC WD 14F PS
14'-0" 14'-0"
I | 1
000 DOE 000
= =
0606 DG @56
7 7
02— F SR00€ 000
= 1'-6" <=
060N DG 0606
7 7
000 DOE 000
Xt 5 5 ot
¥e 060

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV &
GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF ASTERISK
U

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE B: 69kV AND 115KV STRUCTURES USING 75' LONG POLES OR LONGER REQUIRE (2) SETS OF
CROSS BRACES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

j TRANSMISSION STRUCTURE STANDARDS REVISION
fa- _ CONSTRUCTION 69KV & 115KV X-BRACING - 2 SETS OF X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURES DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 30052015 | Barry R Hart | 410212015 | 1 M2.23. TQ-9W-Y14-B| Sheet1




BILL OF MATERIAL (CU Type: POLE)

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR
345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE
OF ASTERISK (U*)).

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE
DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK
ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE
GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING
STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

HEAEIES CU: U*PT-TQ-9W-Y14-C
1 18 ST 30919294 | NUT LOCK M-F SQ FOR 7/8" BOLT
2 18 ST 30919303 | NUT SQ GALV FOR 7/8" BOLT
3 18 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)
4 18 ST | 30919328 | WSHR LCK 2 TURN SPR GALV 7/8"
5 12 ST | 30919393 | WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE
6 18 ST | 30923809 | CLAMP GRND WIRE U-CLIP 15/16 IN HOLE
7 6 ST | 30924054 | XBRC WD 14F PS
14'-0" 14'-0"
T | 1
(1X2X3) 1(2X3 (1X2X3)
<= =
(4X5X6) 4X¢8 (4X5X6)
7 7
1X2)(3 123 0*9*9
456 4 X6 oe@
o 7 7
1Y2)3 . 1Y2)3 (1(2(3)
2Y5Y6 1'-6 4Y6 o‘e‘e
7 7
(1X2X3) 1X2X3 (1X2X3)
<= =
(4X5X6) 4x8 (4X5X8)
(1X2X3) 1(2X3 (1X2X3)
=< S5
e 960

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

TRANSMISSION STRUCTURE STANDARDS REVISION
f&- , CONSTRUCTION 69KV & 115KV X-BRACING - 3 SETS OF X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE SPACING DATE
USA MANUAL ROUND WOOD POLES 10/28/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
C. Gauvin | 8/15/2014 Becken/Hart 300522015 | Barry R Hart | 410212015 | | M2.23. TQ-9W-Y14-C| Sheet




BILL OF MATERIAL (CU Type: POLE)

TEMT oy, Juom | WA CU: U*PT-TQ-9W-Y14-D

1 24 ST 30919294 |NUT LOCK M-F SQ FOR 7/8" BOLT

2 24 ST 30919303 |[NUT SQ GALV FOR 7/8" BOLT

3 24 ST 30919196 | BOLT SQHD GALV SQNT 7/8 X 22 (NOTE A)

4 24 ST 30919328 WSHR LCK 2 TURN SPR GALV 7/8"

5 16 ST 30919393 WSHR CRVD CAST 4 SQ 7/16 THK 15/16 HOLE

6 24 ST 30923809 CLAMP GRND WIRE U-CLIP 15/16 IN HOLE

7 8 ST 30924054 | XBRC WD 14F PS

/0 140" — 140" =8

000, DOE 066
0606 DG 060

X

i

& GREATER.

FOR CORRECT CU: SUBSTITUTE 2 FOR NYSEG, 3 FOR CMP OR 4 FOR RG&E IN PLACE OF

ASTERISK (U* )

NOTE A: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE DIAMETER OF
THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS
PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE
BILL OF MATERIALS. CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU

-

CU FUNCTION: U_TL69 FOR 35KV & 46KV, U_TG69 FOR 69KV THRU 344KV, U_T345 FOR 345KV

NEED ASSISTANCE.

1)2)3
4Y6

7
7
1Y2)3 009*0
4X6 (4X5X®)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 6'

a TRANSMISSION STRUCTURE STANDARDS REVISION

e CONSTRUCTION 69KV & 115KV X-BRACING - 4 SETS OF X-BRACES 01
IBERDROLA STANDARDS 14' POLE SPACING - 3-POLE STRUCTURE DATE
USA MANUAL ROUND WOOD POLES 10/28/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

C. Gauvin | 8/15/2014 Becken/Hart 300572015 | Barry R Hart | 410212015 | | M2.23. TQ-QW-Y14-D| Sheet




